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�
��������$�������$���$���6� � ������� ��$& �� ��&$����#����6�6$%��

�.� ����� �� �����%� �� � -$���  #6���$�� ��� �$��  #��$���%� ��6 ���� ��!�
6���$�$%$�$ �� .��� 6� & ��$���� �$#� $�� ��� �$��%$���� ��� $#6������ � ��� ! �%�
#�$�%��-$��� #��$���%���6 �����.����� ��$& �� ��&$��)�-�$���������� $���
 M ��$���  & �� $.� - � � �%$� � ����� $�� $�� !$..$��%�� ��� ����$! �� �� #�
$�!$&$!��%%�� ��!� � 6���� � �� #� .��#� ��� �� ��6 ����� 5 � ������ .��#�
������� �$�$��� �6 �$.$��� �.�  #��$���%� ! & %�6# ��� �.� 6�6$%� ����� ��
�����%� �� ��5 �# ��$��� �6 �$.$�� ���� �)� ��6 �� �.� ���� ��$& � � ��&$���
!��$���$����$��6 �$�!��8���� �#�� �!��-����� ��$�������� �6� & ��$����.�
���� ��$& �� ��&$���.��#�6 ��6 ��$& ��.� M6 ����)�-�$���6��6�� �&��$����
.��#���.�6� & ��$�����!�6� & ��$���6�����#���� .�%�6���$��%��%��-$��$��
�� � .��# � �.� �����%� 6� & ��$���� 8��#� ��$�� � ����)� - � ����$! �� $��
,���$.$ !� ��� 6�$��� ���� ��� 6���$�$%$��� �.� � ��� �� ��� #�$�� �����$� �� �.�
 !����$���%�6��� ��)����6���$�$6�� �$����%&$�����$��$��� ��


�������7����� ��$& �� ��&$��)���$%!��.������ �������%��� )� #�/
�$���%�! & %�6# ��)�6� & ��$����.����� ��$& �� ��&$��)�� ��� ����
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��������� ��������6����,E������-��$����� ��-� �����$J-�-�#+�!/
���#� -$ ��� ����%��#)� �-����,E�� �-��;� ��� ��6 ���  #��,���%��� �����
#�0%$-�K�$� ��6��$ ���$��� ������ � ����� �$ � ��6 ����  #��,���%� ��)�
-��$��� ��, ��� -6+�-�� ��� �����-��$ � ��� ��-� �� �$ #�$ ,� �!!�$ %� �
���6����-��$ � ����� �- ��$$� $��!!�$ % �$ � $��� �!� $������ ��6 ��J-� , ���
���!������!� �����6���E����6�!����������� ������;��6 ��.$�$� #��,�/
��%� ��� ���-�,�� ����$�� -� #+�!���#� -$ ��� ����%��#�� ��% ,� �6$�����
����� �� � 6��������� $� ��!��, � �����-�3� ��� ��-�����-� ��#� ��� �$ ��

���!��� �#J-$����6��.$%�����;� �����-�3� ��� ��-����� ��6 ��6 ���-��
 ��6 ��J-)� ��J���� 6��6���,E� �J0� � .��#��6�����#J-�6��.$%�����������
$�6� - ���,����� �0�� ������)� -� ���� �J%��K�$)� -� ��#���� 6��.$%�����$�
����%� ,����� ���6�-�!��, ��������!�$�� )������-�J�$L��-��;����#�0/
%$-�K�$��������$ %�)�,�����+J-� ��������$�������6��� ��� !�����,� ��)�
-����-$E��-��$��� ���6���% #����

#:����0�1./���7���� ��-� ������-��$ )�!�$ ����-�#+�!���#�-$ /
�������%��#)����-J,� #��,���%��)�6��.$%������������-�3���� ��-����)�
6 !������
�

�
������1.�����

�
�����$%!Q��%$. �- � ������ ��#�������6�$� �)��-$������!��� M6 �� !�

�$����$�����5 ��� ���%�$���������$��� ��$��%������ ��$& �� ��&$���-��� �
$��$! �� ������ �$�� � !�� ��� ������6�$#����% & %��� �-  ��� ��� ����!�
���! ��� $�� �� ���!)� -�$��� $�� ��� 6�$#���� % & %� ������ ��� ��!� �� � .�� �
������$��.��� ����6��$�$& � .. ������6�6$%�����$��!$..$��%�����6 � ���� ��� �
.  %$���� �.� ��$%!)� ���� $.� - � ����  !)� - � ���-� ���� � �6 ��� ��!� #����
�#�$��$�$ ��-�$���#��� �$! � � �$�!� �$�� $��66��6�$�� � � ��&$���� �����
��$%!� $����$�� �6 �����%$��� ��!� �� � .�� � �$���� �.� ���� ��$& �� ��&$���
�� � ���  ���� �� $�� �-�)� ��� - %%� ��� �� � ���&$&�%� ��!�  M6� ��$��� �.�
 #��$����� ��� $�� ��$%%� �.� � ��� �� �� $�� ��6��� � ��!� ���� �� ��%�� �� #�
! !$��� ���� ��$����8��#������� �����$��� � ������6�$��$�������%!�� ����
����& �� #��$���%���6 �����.�$��66��6�$�� ��6�������� ��$& �� ��&$����.�
6�6$%��� ��� ���%� 6���� $�� ���� ��$& � � ��&$��� $�� $��� 6� & ��$��)� -�$���
6%���� ���%%��$#6���������% ���
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�
�%� �!��$�� ��%����$%!���!)�- ������  ��������$%!������ ��$����

�$����$����-�$��� % �!� ��� .�������$��)�! 6�$&��$��)���!� �����  & ��
���� !����$���%����$&$����5 �����$�.%� �� �$���� ��&$��)����!����
��!�  �6 �$�%%�� �� � .���� ����� �� ��$%!� ������! �����!)�  #6���$� �
-$��� -���� $�� $��  M6 �$ ��$���� ��� $�� � � ������ ��! �����!� �$#)�
6��#�� !���!� ������� !����������! � ��$#�� ���!�$���� ��$#��
����� ����� �� �����%� �� � $�� 6 �$�!�-� ��- � ���� ��$%%� $�� �& � )�
-� �� �� $�� ��% � �.� � ��� �� ��� ��% � �.� 6�� ���� ��� ����� .��#� ����
��$%!� ���� -��6�6�%$� )�� ��$�$& )� #6��� �$����!�! � ���6 �6% ���

�����!$��� ���&��&(� G=IDIH)� ����� �� �����%� �� � ! .$� �� ���
6 �$�!�.��#��� �B������DD��/D=���� ����.�%$. �����$����6 �$�!��.���/
� ��� �%$�#)�-� � ��� � ��� �Q������6��������!������ �����$��6 /
�$�!� $�� ���� �� ��%#%��� 1�- �� %$#$�� �.� 6 �$�!� $����!�� ��  �� �� ���
�����%���!��66 ��%$#$��$�������$�� !�-$����66 ����� ��.��� �.$����
�$���� �.� � M��%�#������$����
�$%!� $��6 �$�!� ����� �� �����%� �� �
��� ��-��%!����$��$������$�����$������6 �� $& �� �%$�����!�6�$#����$��
.���� �� ��� � �)� ���� ���� 6���$& %��� ~$� /& ���� $�� $�� � �� !� $��
-��%!�  & ���)� �����$%�  M�#$� �� ��$���)�  M6 �$# ����� 8��#� �����
� ����� $�� $�� .������� !�-� �� �� �� ��& � .$�$�� !� ���-% !� � ��!�
-�����.�� ��&$������� �� ���$��% ���$���-� ��� �����-$������, ���
�.����-% !� ���� M6 �$# �����!� M6%�� ��$�� �� �� ����$& �-�����


�$%!�! & %�6������%%�6�$���)�-����#��$��� .��#��$#���%$��$��
6 �����%$����2�- & �)�- �.���������� � #��$���%�! & %�6# ����.�
6�6$%��� ���� ��.������- ������%�$#������$���� ��&$�������� �$�/
.%� �� !� ���  #��$���%� ��6 ���)� - � �  !� ��� ���-� -� �� �� ��!�
��-�6�6$%�! & %�6��$����$��6 �$�!� #��$���%%����


��������%��$��! ���$� !�6 �$�!��.������ �������%��� ����%�/
� ������� ��.� %$. ����$��# ��������� $�� �!��.��� �6�����.�6�����/
� M��%�! & %�6# �����!�$���$���$& ���!� #��$���%���#6�� ����.�
6 �����%$�����66$����5$%%�� �� .% �� !��$%%�$���� � ��%��6�� �� �� ��
����� ���� �����!)��� � ��� �6�����%��$��%����!$ �������6��#�� �
�66��$� ���� ������ ��������$%!�! & %�6# �������$�� ����������/
%�)�����$�����%����!���$%!����$ & ���$��$.$�����6���� ���$���%%�!$/
� ��$���)� -�$��� �� � �.� �� ! �$�$& � .��� �$�� .���� � G1���# $ �� p�
4� ,'o��&()�DRRNH��5 �$��%$� !�$������ ���!�&$ -��	�..$� �-� ��- �
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��#6�� �6�6$%�-��� ��# �� ��� �����%� .$���� !��� ��!�6�6$%�-��� $��
% �&$����.� ��.����� �������� ���!����� ��8����� � �.����� ����-$%%�
��66 �� $�� %$& �� �.� ����� �� �����%���� ����#���� �����& ��� �- ��
��%!������ #��$���%��$! ��.��$��6 �����%$�����66$����� ���)�. ����.�
.�$%�� )�,����.�.$�����$���)�.$����%�& �)�.$����!$��66�$��# ���)�� ��&/
$���%������ )�-�$���$����� !����6� ���� ��.����$�%�����6��5$����%%�
��$��- � ������ ��$��6 �$�!��.������ �������%��� ���

�����!$���1���# $ ����!�4� ,'o��&(�G=IIBH)�$����$%!�$��� ��/
 ����$%$����.�� %./������%���!�$��$��$�.%� �� !�����-��.������C�

−  #��$���%� � ���$&$��� p� $�� ��� !� ��� �$�%��$��%%�� � #6 ��/
# ��� G$�� $��  M� ��� �.� $��$���$%$��� ��!� $#6�%�$&$��H�� �� � �� �
 #��$����� ��# �#�� �����% ���!��� $���6 ���$���!� ��Q��
� ��$� ���# � ..���)��

− .�  �������%��.� � #��$���%� � �6��� ��p���$%!� $����% � ��� $�/
� ������ �6�$#���� #��$���%� � �6��� )���� $#6�%� � �����/
�$������� �� ����66� ���-$%%���!�����$����6%��� !���!�! /
%$� ��� ����$���%%�-�� .���#�� � .��������� % �� !����$&$�$ ��
��!�������%�$�� ��$����.�$�� ���%�%$&$�����


�$%!�-� ���� �� �� �������%�����$� ��� -���% ��.������%�����
2$�� #��$���%�#��$. ����$������ �!$.. � ���.��#�6� &$����6 �$�!��
	� 6��������$�� ��� ���$�#)� $#6�%�$& � �����!� #��$���%� %��$%/
$������ ���$%!�$����% �����!�6���� $��� ��&$�������!��!�)�����#��$/
&��$��� .��� �� $��  M ���$��� � #�$��� $�!$&$!��%�  #��$���%� p� � �
-��������6% �� �6�� ���)�� ��� ����
�$%!�$��$! ��$.$ !�-$���� ���/
 �)� -�$��� � %6�� �$#� ��� �& ���# � ��� ���$���� $�� .�� $��� �����%�
 �&$���# �����!��!�6����������%�� ��$� # �����	����%�� %6�����
! & %�6�6�6$%Q��� %./�-�� � �����!�% �!������ .% ��$����.��$���-��
���$����G4�%%(�$��&(�/�
�6�%�)�=IDIH���

�� ��.����!$�$�����.������%�� �!$� ���$���� ���$%!Q����$%$������
6���6�� � $## !$�� � ���$�.���$��� �.� �� $�� �  !�� .��� �� 6 �$�!� �.�
�$# ���!�! &�� ���������%-�����
�$%!�-$�����$����$%$��� #��$���%/
%�� ! & %�6 !� ��$�� ��$%$��� ��!� $�� ��6��% � �.� � %./� ��%��$���� ��� $��
��% ����-$%%������66� ����� $��.  %$����������& �� %�� M6� ����� #�
�% ��%��������# ����������� �� �� ��.���! �����!$����.��� $���-��
.  %$���� $�� �� �$& �� �$����$��)� ���� ��� ��� �� ���!� ��� �� $���� ��/
������ �� �  M6 ����$���� �.� ���$ ���� 
�$%!� -$��� ���!�  #��$���%�
��#6 � �� �$���-�� ��.��� $��.  %$������!��%��� #��$�����.���� ��
6 �6% ���M6� �� ��$��� M6 �$ �� ��$���66��6�$�� �#��� �)�$����% �
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��� ������%��$�� .  %$������!�������%% !���� $## !$�� � �$����$��� ���
#�� �$�� ��$ �������6 �-$����� �6� � ���6���% #�����$�����$��6 /
�$�!)� ��$%!� �%� �!�� ���-�� ����� .  %$���)� -$�� �� ��� #��$& �� ����
�$! � �� �!� �.� ���$ ��)� $�� ���� ��66� ���  M6� ��$��� �.� �� $�� .  %/
$���)������� ��� & ��-$��!��-�$�� %.�.��#�$�� %.������$%!����������.�
1���# $ ��p�4� ,'o��&(�GDRRNH�� ����$� ���#�$&�% �� ��.�.  %$���)�
-�$���# ���� ����� �����!� DI� � ��� ���&$&�%� $�� �-�� � �.� �-�� ���
#�� ����.%$��$��� #��$�����5$���! %�� !� #��$���%�! & %�6# ���
$����$%!� ��- �#  ����6 �6��� ��o&�����6�� �������.������� �-���
�� ��& �%��� !���

��� #��$���%��� � � $������� �$������ ��� $����$%!� ������� ��
�����%��� )�����$����� )���!�!����$����.����&$&�%����- %%������ �
 M� ���%�  M6� ��$��� �.� .  %$����� ��� �� � � �$��$��� �.� ��$�� 6 �$�!�
�� ��  M6� ��� �� $�� .  %$���� !$� ��%�� ��!� &$�% ��%�� �������� .��$�%�
 M6� ��$���)�� ���� ����!��6  �����& ���$# )�$��$�����-$����� ��/
 �� � ����$��� ��!� �-�� � ���� �� �� �� � ��% � ��� ������%�  M� ���%�
#��$. ����$���)� �6 �$�%%��$�������%� �&$���# �����!�$��6� � �� �
�.��!�%����8  %$������ �! & %�6$���.��#��$� ��.����� ��)�����# � /
%�����-��!�#��$. ����$���$���6$� ��.�$�� �� � M6 �$ �� ��
�$%!� ��
���� M� ���%� M6� ��$�������� �%� �� $�� ��� � .  %$����� �����66 ���
�����$����$��6 �$�!���$%%�����.�%%��������%��$�� #��$���%�$#6�%�$&$���
����!�%�����!� M6%��$�������$�����$��6 �$�!)�.$���� ������ ��6��$/
�$& � #��$���)����- �����$! �� $������66�� %$. �6 �$�!� G4��' ��&()�
=IDIH���

���$����� ��������$%!� ���� ���% ����#�����$��.  %$���)�����- �
� %$ & �����������$��6 �$�!��� �������%���& ��� ��$%�� M6%�! ���!�
$#6�%�$& %��� �6��!����!$.. � �����$#�%$��5 ���$�������������� /
��&$����� �����-������! . ��$& �� ���$������$��66��6�$�� ���!�$�/
�$���$������$���.��#� �M$���# �����


�6$%�!��$�����$��6 �$�!�� �!$%�������$�� �)�$�� M���& ����
� /
&�$%����� ��6��$�$& �#�# ����.��.. ��$��)�,��)���� % ��� �����#�/
�$���%%�� $�� $�� ���� �� ! ��%����� ��!� ���%%�-��
��Q�� %���� � � ������
-$��� ����� .�$ �!�)� �$�� ��� ��$��� ��� � �� �$!� �.� �� $�� ��� �� ���� ��
��$��%�)�-�$���!� ������# ��� $�Q���� %���%� .�$ �!���M� 6�$������/
���������!�� ����� ����.� %$. ���� �� .�$ �!��$6�� .��# !�������$��
�.�� #6 ��# ������$������� $����.�$ �!��$6��������& ���# ��$���$��
��##��� ��� !$.. � ���� ��� � 6��� !� "o'��� G=IIAH)� & ��� %$��% � - �
#  ��-$�����#6���$�����!���!�$����������- $�����66��$� �� �� )�
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-�$��� $�� ��� �$!$��% � �� �6 �6% �-��� ��.. �� .��#� � ���$��! . �����
�%� �!�� � ��$��� $�� �� ��6 �.$�$�%� � %��$����$6� ��� �%���#�� ��#���
�����$���� % # �����.����� ��$& �� ��&$��)���%%�$������ �6�6$%�$��
��6��% ��.�� ���$& �� ��&$�����!������#�� �-� ��� ���!�����Q��
�%�� ���$ ����

�����!$��� ~(�� ��&(� G=IIAH� $�� ��6$��%� �.� ��$�� 6 �$�!� ��� $�/
�� �� � $��  #��$���%� ����$%$��� ��!� � �$%$ �� � ��� ��� ���� 
�$%!� ��
�� ��6�$#$��$�������$��6 �$�!���#6�������$��! & %�6# �����$%$������
��! �����!� #��$���%� M6 �$ �� ����!��$& ��� #�# ��$���� ��� $��
-����.�$�� �6� �$��� #��$��������$�����$��6 �$�!��%���! & %�6$���
 #��$���%�$�� %%$� �� �p���$%!� ��� �� ����! �����!��-��.  %$�����
�� � ��% � ������� %�� !$��$���$��� ���%$��)� $�� ��$��� ��!� !����$����
�����!� � ���� � ��� �.� %$. � �� �� �� � ��% � �����! �����!� ����� �� �
����  M6 �$ �� �#$M !� ��� ���.%$��$��� .  %$����� �� $�� �-�� .  %$����
��� �� !�$��� �#���.���-��� �� &�%��� ���# �� � %� ��8��� M�#/
6% )�  M6� ��$���� �.� . ��� ��!� ��M$ ��� �� � �  �� ��� �� .�$%�� � ��!�
�� � .�� ���$%!� ���� ��.� ��� 6� �� !���

5 � ���-� �����#���� 6 �6% � �� � �����$���%�� ��% � ��� � ��& �
6��6�� .�%%��� ��� $�� ���$�$��� ����� ����� � ��&$��� ����  ������ � !�
$�� ��$%!� ���5 �����$! �� �� #� ���� � �$�� � )�6�� �� $���)� .��#�
-�$����� �� M6 �������$���-�������!�� %$ & ��������%���� ������
� %%������ �������������!$�������� ��������)���- & �)�- ��  ������
�!�6������� $���������!$������!��� � ��$%��$�.%� �� !���

*���� �������� 6� � �� !� ��� �6$�$��� ����� 6 �$�!� �.� ����� ��
�����%��� �$���$��$.$����� #��$���%�����$%$��)�$��,��.�%���!�����% /
.�  � 6 �$�!� �.� �� ��$%!�  M6 �$ ��$���#�� � 6��$�$& �  #��$���� �����
�� ������������%��5 ��� �$��%$� !������$��&$ -)����������# ��$# )�
- � M6 ���������� � �������� �$��$������Q��� �� � ��%$� !���� & ���
$�!$&$!��%)� ��� ��# � #��� ��$%%� � � #��$. ���  ��� ���$�#)� $#6�%/
�$& � ��)� M6%��$& � ��)�-�$����� �������� �$��$���.�6� &$����6 /
�$�!���

5 ��� ����&$�� !�������������������!��Q�������%�����%!�����
��%�� !$.�)�����#�$�%����� !���� ���!�-������� �6�6$%Q��6 �����%/
$��� ��� ���-��% �� 2 � ����%!� 6 �� $& � �$��  #��$���� ��!� ��������
�����!$� �����$! ��$��� ��&$���$������6)����.������6���$�% �������/
� ��� �� � ��$%!Q�� 6���$��%� ! & %�6# ��� ��!� �%%� ��$�� ���  ���� � $���
6���� ��� & ��$������$�$& ��� ����� � .�� )�- �����%!�Q���� ��� �
���� 6����.� ���$�$�����!� !����$�������-��$�! 6 �! ��� ��$�$ ���
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��$��6 �� 6�$��� M6%�$���4���&(�G=IIIH)�-�$���#�� �����!%����/
! �����!� !����$��������! %$� ��� ����$������6 �����%$����.�$�!$/
&$!��%���� ��$#�$��������$ & �6��$�$& ������ ��$��! & %�6# ����.�
!$.. � ��� ��6 ���� �.� 6 �����%$���� ���$�$�� $��%�! ��  !����$��)�
���$�$��)���!��� � ���$� !)� ������#6% M��.��%%� $�� ��$���%� .. ����
-$��� -����-�$% � ���� ��� 	�����#���� ��� ��$�� ���� 6�� $��  !���/
�$�����
�

�
�  �����E��<�@�E�����6�� �515�����

�B���1� ����.@����� ��
�

5$��� M6� ��$�����.����� ��$& �� ��&$���-$%%�#  ����� ��%�����
$�� 6 �$�!� �.� ����� �� �����%� �� �� �����!$��� ��,!�9�&(�  �� �%��
G=II?H)����� ��$& �� ��&$����.� �� ������ ����%���#�� �)� � ��� ��)�
��!�  & �� �� $�� �-�� .�$ �!��� 
�6$%��  ���� ��� �� �����$%���)� �� ��
%�������)����� ������ � $���$��� #���������� � M6 �� ��.���� ��)�
�$���)�� �� ����!��������� ����5 �� %$ & �������� � �$�!$&$!��%��
��.. �� .��#� �� %���� �.� ��! �����!$��� ��!� ���.$! �� �� � ���$& �
 #��$������!��%%������$��$���� #�����#�%�� �)��� �����$! �$��� /
.% �� !� $�� �� � .��#��.������ 6���% �� ��&$����5 ����Q�� ���� �����
 # �� �� � �.� ���� ��$& � � ��&$��� $�� ���!$�$�� !� ��%��  #��$�����
������� ��$& �� ��&$���$���% ��%��6����$������#� ���.�.���������!�
�� � � $���� &��$ ����.� � �����)��������� �� �6�6$%���� � � �$�� �$���
&��$����#��$. ����$����� 8��� ��# �� �#���  M�$�$�� $��66��6�$�� �
� ��&$��� ��� %��-$��� ��� ��#�� � �.� �� ��!� $�� �����#��� ���#���
���� ! & %�6� $���� ���� ��$& � � ��&$���� 8��#� � �#�� �.� ���$�%� 6�/
���%�������� ��$& �� ��&$�������� �! .$� !������&$�%��$����.����$�%�
���#����

��Q���$�!��.�� ��&$��������� ���$�����$�������!���! �#$� ��$�/
� ��$����.��� ����$�%� �&$���# �������$����� �&��% � 6$��!$��� ��&/
$��� -$��� !$.. � ��� %�� ���� G8$�� �� p� :��!�)� =IIRH�� �����!$���
~(�� ��&(�G=II=H)����� ��$& �� ��&$�������%%��# ����������$ & �
���$�.���$��)� .��� -�$��� ����!$��� $�� -��� � ���$�� ������% ��� 2 �
����$! �� $�� ��� �� 6���$�% � ! . �� �# ����$�#� ����� ��%& �� 6���/
% #���.������������������% ��8��#�6�����%��$��%%�)�- ��� ���%�$���
���������� ��$& �� ��&$������ .�$%�� �� ��&$��� G~(�� ��&()�=IIAH�
��!� .��#� 6 !����$��%� 6�$��� �.� &$ -� $�� 6 �� $& �� ��� 6���% #� �.��
� ��&$���G���$'�p���(��p�:� .���&$')�DRRDH�����!$.. � �� ���� � �
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���� 6������� ���~�9 �� ���%�� GDRR?H)�-�$������� ������6���% #�
� ��&$��� $�� .$���� 6��� � �.� �  & %�6# ��� �.� ���!���� !$���! ��� ���
��� � ����� !� ��Q�� ��� .�$%�� � ��!� �� ���$��� ���$�%� ���#�)� $�� $��
#�� ��66��6�$�� � ��� ��%��������6���% #��$��� ��&$����� ���$� !�
���� 6���.����� ��$& �� ��&$���.��#�!$.. � ���6 ��6 ��$& ���%%�-��
������� �� ��$��$����$����$��� ��
 !����$���%����������� ��$& �� /
��&$������6���% #)�-$���-����- �#  ��$�������%����

���� ��$��� $�� #���� �.� �� ��! �����!� ��� �� 6���$�%��$��%�
# ����$�#)�  #��$���%� � ���$���� ��!� � ��&$����� ��� ���� ��$���
-$��� !����$���$����! �����!��������.��#��.�� ��&$���������$#��
�������)�!�#�� ����! ������$������ �� ��$�������$���6 �$.$����6 ��.�
 #��$���%� � ���$��� -�$��� $�� ��##��� .��� ��#���� ��!� ���/
��#��� ��$#�%�� G�����|)� =IDAH�� 	&���!�� G=IDAH� 6 �� $& �� ��/
�� ��$������ M6� ��$����.�&$��%�6�- �������%�$#�������&$��%���!�6�/
� ��$�%%������ ��$& �$�� & ��������$�#���!������������%�����$�$%�� �
���� ��$�������$! � !���$& ���������6��6�� ����#6% � %��!$.. �/
 ����6$�$���������%%���� ���-�$�����& ����� ��$�����!����� ��$& �
� ��&$��� ����$! �� !  #� ��# ��$��� $��66��6�$�� � ��!� � ���$& ��
5 ��� � $��%$� !����&$ -������-$��$�� �����.���� %$ ��!��#������/
�� ��$�����!�#���� ��$����.�������� ��$& � ��)�! �$� �������$ & �
���� ����

5$��� ���� ��$��� $�� �����$�� !� �$��� ��� �� �.� ���� ��$���
G�����|)�=IDAH������ ��$���$�������%�$& � ��)����$��! ����$�� ���%�
� �!$� ��� .��� ���� ��$���� ��� ����! ��� � �� � �.� -��!� ���� ��$���
����� �! .$� !����6� !$�6��$�$���������� ��$& �� ��&$����2�#���
-$���$��� �� !�% & %��.����� ��$���$��6��� ����� ��& �$��!$.. � ���
�$����$���� ���� ��$& %�� .$����� -$��� �$�� ���� ��$& � ��)� � ���� �
������%�� ��!� ��#6%$��� �� �$�� %$. �� �#6�%�$& %�� � ����� ��� ��$#�%$�
-�$��� ��� �� 6 �����-��%!�Q�� �!!� ��� ��!� $����$��� �� #�� 	����
��$��6 �6% �� �!����� ����������!��.. ��$& � ���G*���o� �)�=IIRH���

��!��)� - �#  �� -$���#���� �$���� �.� ���� ��$& � � ��&$��� $��
��$%!� ������ ��%�� ��� �� $�� 6  ��)� ���� �%��� ��� �!�%��� 6 ����� ��!�
��������� ��� ��)�6�� ���)� !�����������$����6$��! �%��-$�������!/
 ��6��. ��$���%���##��$���-�$���.$�!����� ��.�$��� �� !����� �/
�$��� $����$%!� �����- %%����6���$�$%$����.� $���6� & ��$��� G�����|)�
=IDAH���


��� �� �.� ���� ��$& � � ��&$��� �%���  M6� �� !� :$#���&��|�
G=IINH)�-�$�������$! ��� ���� � .������ $�!��$������� ��$& �� ��&/
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$���� ��$�� $�� 6���$��%��%�� �& �/��� .�%%)� �� � .�� � ��6 �6��� ��$& �
 !����$��)���������%��������� ��.�%�.�����)�� �6 ��$& %��� ��� �����
����� ��.����6 �� ���!�� %��$����$6�6�� ���p�� ��� ����!�6�� ���
p�6�6$%���

8�������������.. ������6���� ��.�$�!$&$!��%���!��� � .�� ��%���
 # �� �� � �.� ���� ��$& � � ��&$��)� �����!$��� ��� ��#�&�� G=ID?H�
���� �$��%� 6� !$�6��$�$���� G� � !$����� $�.%� �� � ��!� �$�%��$��%�
6��� �� �H)� ���$�%� % ���$��� ��!�  !����$��)� $#6���� �.�# !$�� ��!�
$�� �� �� 6��!���$��)� ��! �.%�-� ��!� !$����$�.���$���  #��$���%)�
6�����%��$��%���!��$�%��$��%��  !��G��$������!�%�����.��%  6H���!�
.$��%%���%���6���$��%����!$�$����G��%�����!���$���)���$� ���!���%!H���

	���� �� �.� ���� ��$& � � ��&$��� $�� ��$%!� �� ��� ��,!�9�&(�
��!����(��&(�G=IIDH�#���� C��

D�  #��$���%�! 6�$&��$����
�$%!� ����& �Q�����$�.���$����  !��
�.�%�& )���66������!�6��� ��$��)���!������ � �$�������$��� �
�  !���������$������ �����!� ��� ���$�.�� �� #���� � ���$%/
!� ����& �.  %��� ���� ���-���������� �%�& !)���!�� ��.  %/
$�����.�$�� ���$��������. �� !��������� �����.��#���.���� ��
��!����� ��$��)��

=� ��M$ ��)�� ��$�����!�. ����
�$%!� ��-�$���� ��%��%�� M6 �$/
 ��$�����M$ �����!��� �$������������ ��$��)����$���& ����./
� �� ���� ��$& � ��-��!�� ���� � ��� -�$��� �� �� ���� �..��!��
�� ������Q�� ����%$���.�$ �!%��� %��$���)��

>� ������ ��.�  � �����2 � )�- ������������� ��.�6�6$%Q�� � #/
6 ��# ����5 � �  � $��-� ����6�6$%� �� �� �..� ���� !�  � ����
�� �� $�����)� .��� M�#6% � $���� �������� % ����� $��� ��# ��
 % # ��� �.� !$������$����-� �� �� $.� .��� ���$���� �%���#�� ��
���� ��� �)��

A� ����� � �.� $��)� 6 �����%$��� ������� �$��$��� �.� 6�6$%�� 
�6$%��
-�����& �� �! �������� ��& ����� ��$& %���� ��.� ����� �/
��$�)� ��& � ��#6% M)� ����$% � $��%$���$����� �� $�� %�-� � %./
 ��  #�#��$. ���� $�� %.� $��� %��$�����������%�� ��%������ ��
�� �- �� �� $���� ���.���##��$���$������ ��$��� , �� !����
����6)��

?� ���$��$��)���� !�#����! �$� � .�����$%%� ������ �� M�$�$��� M/
6 �$ �� �)��

B� 6� ���� � ���#�����!� $�� �� � �.� ���� �� �.� �$!! �� ���� �/
�$����	������!$����6����6� ���� �������� ���� ��& � �����
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��� M6 �� !�.��#���#��)����� �#��%����!������.��$!��������
��%��� ���$��������%������-��� ���$& ����)��

@�  !����$���%� �66����� �� �.� 6�� ����� �� � �� � #���� $#/
6������� ����� �� �.� ��$%!� ���� ��$��� ��##$�� !� $�� �����%�
 �&$���# ���� ���� ��$& � � ��&$��� �.� ��$%!� �� #�� �� ����
% �$ ���  !����$��� �.� ��$%!� .���$& ��  & ����$��)�  & ����$���
� �$���%%�- !���!�6�� ������& ��� $����$%!���� ��#������/
�$� )���!������� �� M�� # � $�� �������$�����������$�� !���/
�$���p���$%!�$��6��$�� !�.��� & ����$����������� �.�#$%$ ���.�
��� .�%� � ��&$��� ������)� ��� ���� �$��� �.� $#6��6 �%�� � /
��&$��)�� ���$& � #��$���%�� ���$���)�$� .. ��$& �6 ��%�$ �)��

N�  !����$�����!�� ���$������% ���.�� ��� �����!�-����� ���/
 ������-�������$������ #� %& �� � ��� ��� �����%& �� �$����
6���% #�� �.� 6�6$%�� .  %� ����� �� �� %���� 6�����%��$��%�
���-% !� � ������ ��-� ���  ���� � �� ���!� ���$�%� ��!�  #�/
�$���%���#��6� � �$���%������#�����$��$#6����������� � #/
6��� �$�)� ��� ��$& � ��!� �  �� ��� ��#��$� � �.�  !����$���%�
6��� ���� ���� ��$& � � ��&$��� ���� �66 ���  & �� -� ��
� ��� �� $���� �����������%& ����� ��$& �� ��&$��� .��#�� /
�$��$��� G#$���� ���.%$���H� ���-� �� $�� ���  ��-$���#�,��$���
!� � ��� $���6�6�%��$������$�� �� $#6�%� ������ �!$..$��%�� M/
�#)� ��.�$��  &�%���$��� �.� � ��� ��)� �$��%$���$��� ��$%$��� �.�
��# �6�6$%����%�)����$&�%��.�� -�� ��� �������� -�6�6$%�$��
�%������

���6��$�$& � &�%���$���� & ��%�&$ -���.���������-���!��Q��$�/
�%$� � ��� ��%�� �� � ���� � �.� ���� ��$& �� ��&$��)����� ��$%%� ��$ �� ���
� ���!��� $��� -���!�! ��$% !����%�� ���5 ��  ��%���������$� ����
���� ��$& � � �6��� ����%!�� � � ��� �)�  & �� $.� $�� ���Q���-�� �����
���� ��$��������!$�����,!�9�&(���!����(��&(� G=IIDH� % �!���%���
��������%%��% � ��� �)� � ���$& �  #��$���� ����� ��� ���� !)�  �&�)�
� � ��# ��)� $���% ���� )� ! .$�$�� �.� � ���$& � ���$��! � ��-��!��
! �$�� ����$& �� ��&$������� 6%�� ��% ���% �$������ ���.����� ��$& �
� ��&$���$������ ���!�� #6 ��# ����.���#����5 ���� �6���$��/
%��%�� !$�6��$�$��� �.� � #6 ��# ��)� ��# %�� $#6�%�$& � ��)�
 M6%��$&$��)� %���� �.� � %./������%� ��!� % ��� � ��$�$&$��� ��� ���� /
�� �� �� �.� �� $�� � ��&$��� G��,!�9�&()� =IIIH�� *���� ���� ��$& �
#��$. ����$����$����$%!� ������� �������%��� �$��%$#$� !����& ���%�
 M6� ��$���� �.� ��� �� ��!� �� � � �6��� � ��� ���.%$���� -$��� 6  ��)�
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-�$��� # ��$���.��#�! �$� ���!� ..�������6��� �����# ���##���
���� � G4��$��&()� =IIDH�� 8��� ���� ��$& � � ��&$��� $�� ��6$��%� ! /
������$& � .������ 8��#� � �#�� �.� ���$�%� !��� �)� $�� $�� $#6������� ���
!$��$���$���!$.. � ����6 �$ �������������!��-$���#��$&��$�����!���/
���%����� ��$������!��  !��������� ��-���$��-$%%�� ���� �� !���/
�� ��$���� %�� !�-$���! . �� ������� �-$� ������$�� !�-$���! �$� �
������#�-$������� !�G8$�� ��p�:��!�)�=IIRH��5 ����-���%����.�!$/
&$�$�����!���6 ���.����� ��$��)����� �� ��$�%%������ )�-$���-�$���
 ������ � !�$����$%!� ������� �������%��� ���

�� ��#�$���$��� �.� ���  � .������)� !$� ��� ��!� $�!$� ��� ���� �/
�$��)� & ���%� ��!� 6���$��%� ���� ��$��)� ���$&$��� ��!� 6���$&$��� $��
�� �� !������!$���*���o� ��G=IIRH)� $�����$�!���.����� ��$��C��

D� 6���$��%%�����$& �!$� ������� ��$���p�$��$��� ��$����.�&$��$#)�
6���$��%���#$%$��$��)� .��� !� $������#$%$��$�������)��� ��.�
6���$��%� ��6 �$��$����& �� &$��$#����� �����%�-$��� ��$���$�!�
�.� ���� ��$���  ������ � !� $�� .��#� �.� ! %$� ��� � 6���$��%�
���#$�������%%�$��)��

=� 6���$��%%�� ���$& � $�!$� ��� ���� ��$��� p� ���$��# ��� �.� ��/
��� ��6 ����)���������&$��$#����$�$��%����� �����!$� ��%�����
���� ��$��� $�� %.� !� ��Q�� 6���$�$6�� � ��%�� $�& ����-���� ���
���#�&$��$#���!�-����)��

>� 6���$��%� 6���$& � !$� ��� ���� ��$��� p� 6���$��%� ��������$���
$��6 ������.� $���6��6�� �� ��������%� �&$���# ��)� $��#��$/
. �������! ������$���! &$� �������6�6$%��  !��.������� ��/
.�%�#���� # �����, ��$& C��� ��$���6 ��)���% ��)��

A� 6���$��%� 6���$& � $�!$� ��� ���� ��$��� p� � .��$��� ��� .�%.$%%�
� ���$��� ��$� # ���C�� % �� ��6�� ����! ��)�� , ��$���.$%/
$����$!�.������$�� ���%���#�� )��

?� & ���%����$& �!$� ������� ��$���p��� ��.�6��.��$��)� $���%��)�
!$�6���� � �%���#�� �)� & ���%� ��#$%$��$���� ��� � ��$��%�)�
���, ���� $�� �����%� �� �Q�� ����$! � !� ��$�� � ��&$��� ���
��# ��$��������#�%���!������ 6���% )���$� � �� �������/
���� 
 ����� -��� ����$ �� ���� ����� ���% � �.� � ��&$��� $�� � /
��#$������ ����$� !������$���%������#�����.���� ��� ����%/
��� � ��# �6�- �% ��� ���$���� ��$�� ��6 � �.� ���� ��$�����!�
 M6� �� !�����$#���������#�%���!���-�!�������#�%�� /
��&$����"��� ��&�%�����& �� ��!���!��� � .�� ��� ��������
�66 �%�� ��� 6��%$�%��  M6� ��� !$����  # ���-$��� �� $�� �� )�
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� ���� � $.� � ��� ���!�6����%���� $����$%!� �� ��������#�%)�
�� ��� ��# ����#�%)��

B� & ���%� ���$& � $�!$� ��� ���� ��$��� p�  M6���$��� �.� ��#����
-�$��� ����� ��� ��� ������ ��$�� �$�!� �.� ���� ��$��� - � ��%%�
�6����66 ����� ��.�.$�������� ��.���$��� �p�������$�#�����$��
#$%!)�#���%��# ���%����#��%���#�� �)��%��! ���$��� ��&/
$��)��%���$��)���$������5 �$��%�! �� � �#��� ����.���� ����
�� ��6$��%�  M�#6% � #��� � � $�� ��$���%� .�%� � -�$�6 �$����
�%���#�� �!��$���� ��$�����.� ���%���#�� �$����� ������- ��
��# �������� ��%���.��$!$��% ���� ���$���%�������$��$��%�! !�
$���$�� )�������)�!� ����-�$���$�!$&$!��%�!� ��Q��.  %���#/
.�����% �$����%% ��$& )��

@� & ���%� 6���$& � !$� ��� ���� ��$��� p� ��#6% � � $������� � �.�
��� �� 6 ������ " .��$��� ���- �� ���� ����� ��� ��  �$��)�
�� ��$����~$��$#�� �� �� ���  M$��� ��!����� ��%�� .��� ���� �/
���)������%���.��� ��$� ��%���)�-�$% �$������ �����$����%% �/
�$& �.�&��$� )��

N� & ���%�6���$& �$�!$� ������� ��$���p����%������6 ��.����� �/
�$��� M$����-� ����# �� �$����,���%����$�$�$� !)�6��$�� !�
��!�- �$�����6�����!$&$!��%��-����� ������.�$�%����$�$�$� !�
$���%���)�� ��# ��� ���/��%% !��%������  6����$��$��6���$�/
�%��%��6���% #��$��6�6$%��-����� ���$� ��.� ��6���$�$6�����
$���%��������% ����& ����$���$���%-����,������ ����!�-�����
�� #)����������$������ ����������

���$����! �$��% ������-$���#�����$�!���.����� ��$& �� ��&$���
- �  ������ �� �%� �!�� ��� 6�$#���� �����%� % & %�� �& �� $.� $�� $�� .���
��# �� �! ���$� !� ��#6��#���  #����#% �����!� $��$��$.$����)�
������& ���� & ��-��� ����� �� �� ������6�����.���$%!� ��$����$��
6 �$�!�- ���& ����! �%�-$������ %�����!�� ���% ��� ����������� �)�
��!�$���%� �!��#�� �� �$����#��$. ����$�����.����� ��$������� �/
 ��$��� .$�!$���� � %�� � ��� �#$!� � �! �� !$.. � �� ��� ��� ����� �� �
#�� ��.� ��#��$. �� !�!$� ���6���$��%����� ��$��)�-�$% ��$�%���6��
.���#�� ���& �����!�& ���%�.��#��8� �� �����.����� ��$& �� ��&/
$����� � .�� �$��Q��%�- ��$���$�%�������$������)�����!$.. � ���$��$���
.��#��G4��$��&()�=IIDH���%�������6 �$�!��.������ �������%��� �$��
����$! � !� ��� � �  M�� # %�� ��%#)� 6���� �.� %�� ��� ���� ��$��� ��$%%�
-���� ��� ���#�%%�� �$����$���� �� � $��� 6�%� �� !$������ !� ��� ���/
� ��� $�������%���!� $��� %��$���%� .$ %!������� $��6 �$�!��.������ ��
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�����%� �� � �� � ��#6 �$�$& )�  M ��$� � �� $�� 6���$��%� ��� ������ ���
�$�%�� - � ���$�$��� ���� ��$���  �6 �$�%%�� $�� & ���%�  M6� ��$��)�
.$����)��$&�%���� �-  ��.�$ �!����.�6��6���$����.���$�����#�%�6���$/
�%��$��%����� ��$���!� ��Q��������%��� ���$%!Q��� ��&$�����!���# �
��$��� � � -$%%� ���� �����#�� ��� �����  M� ��� ����� $�� ���� !� �$#�
6���% #��$��� %��$����$6��$�����$ ��)�-��%!��$�! ���$#�$��% ���/
$�����!�! ����� !�.�#$%��%$. )�$��$��� � ������������ 6����$��! ��  �
�.����� ��$& � �����

�#��$���� %�$��� !��#���� $��$! �  & ��� ��#��� � $���� 	�# �
 #��$��������#�� �����%$. �� ���$.�%)�- �����$! ���� #����6��$/
�$& )�������# ��.����$�������.� ����#6%$��� ���!��� �#���%��� ��/
�$& � #��$������ ���$& � #��$���)��� $��$���$%$������������%)�� ��/
%�� )� #��$���%� #6�$� ��)�$���$%$������ #6���$� �-$������ ��� M/
6 �$ ��$��)�  & ��!��� .�������$��)� �%%� ��$�� ���� %$&$��� $��$! � ��$%/
!� �� �����- ���� !����������& ���������%��� .�� ����� � ���5 �
��� �#���%��,���� M� ���%�#��$. ����$���������- ���6��� �� �� ��
!$� ��%����!�� �� ���6 ������$���������-��%!� M6%�$��%�������� $��
� �6��� � ��� ���� ���6����$� �- ��������� ����� ��# �6�6$%�� �� $��
 #��$���� �$!! �� $�� �� #� ��!� ��# � �.� �� #� ���-� ���� $�� �� )�
��# �!��Q����& �6���% #� M6� ����-�� #��$��������������� � M/
6 �$ ��$�������� �� .�� )���!���# ��� ��6 ����%��.��#���# ��.�
�� #�����$��!$..$��%������ � ��%$� ���!�!$� ��%��! .$� �-��������� �
��-���$����$���%�-$���� ���!�������� ��$& �� ��&$�����

8  %$���G #��$��H���������! .$� !�������&$&�%��.����, ��$& �� /
%��$��� ������$������, ��)� ���6 �6% ���� ����� � %.��8  %$�����& � $��
6���� ��-�����$��.����$������# %����$ ����$��)�-�$���#�� ������
.  %$���� $�!$��� �-���� $�� .�����������, ��$& �# ��$��)��%��� $�!$/
��� � $#6������ � �.� � ���$��  & ����� 	 ���!� .����$��� $�� ������%�
-� �� #��$����� ��%�� ������ ��&$��)������# ������$���������#�
$�)���������%!�$��.��#�!$����� ���

8  %$����� ��%�� ��������&$&�%���!����� �� ��%���%�������� /
��&$��� G~�9�9�&(� p� 	�%���)� =IDIH�� ��� -$��� 6��$�$& �  #��$���� $��
��$%!� �� ����� �� �����%� �� � #  �� �%� �!�� -$��� � ���$& �  #�/
�$���)�����-�$���!��Q������ .�&����%���
������������(�����G=IDAH�
��-��!�� .%��! !� ��� � ���$& �  #��$���)� ��� �)� ��� � ��!� ��� ��
��66� �� !� ���$���%� ��#6�� ��� �������#�$�%�� $�� .��#� �.� �.. �/
�$& ����� ��$��)�-�$���$����6������6 ��.� #��$���%�� ���$����-$���
�$������$&��$���% & %���
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:$#���&��|� G=IINH� � %%�������� $��� �� � $����$���$�����!���/
�� ��$���$����$%!� ������ ��� ��% ��� ���$���������-��!%��&$�$�% )�
��%��$.� $��-������-��!%������������&$&�%����$��$��� .% �� !�#�$�%��
�� � ���6 !� M6� ��$���� $�� �$����$���� $��-�$��� $�!$&$!��%� $��  M/
6 �$ ��$�����M$ �����!�!$����$�.���$�������� �� ��.�� ��% ��� ���$��
����#6��$ !� ��� �$��$.$����� � ���� �)� #�& # ��� ��!� ! �� �� !�
������%��.� #��$������

��� % # �����������%��$��#�����.� ���� �����-�� ���$& � #�/
�$���� ����� ��� ���� !)�  �&�)� � � ��# ��)� $���% ���� )� %���� �.�
��#6���$��� ����� % �!� ��� &$�% �� � ��!� ���� ��$��� G��,!�9�&(� p�
2 ����$�&()�=IIBH����������%������.$�#�4��' ��&(�G=IDIH)�-�$���
! ���$� �� �� � �  #��$���� ��!� �� $��#��$. ����$���� $�� 6�6$%�� �.�
����� �������%��� ���

�� ��.�  #��$���� �����#$��������� �6�$��$���� ���$& � $�� . ����

�$%!� $�� ��$��6 �$�!����4��' ��&(� G=IDIH� $����� %��� �� �.��$!� �.�
$#��$����� ��, ���)� $�� ���� �� !� ���� �� � �%� �����!�� G!���� ��)�
$%%� ��)�6��$��# ��)�! ���)�����$� !�� %��$����$6����������%���!�
.�#$%�H���� ������� & %�$��. ��)�%�& ����. ���G-����$����������#�&/
$ �� ���� �  ���� ��� �� ��!� � %%� ������ �����H�� 8��� ��$%!� �.� ������
�����%��� �- ��� �.��$��������%% !����� �% !�. ����
�$%!�.  %�������
��� #  �� � ��$� # ���� $����#������% � . ��� �������!$���� ��!�
�  ������,���$.������ ������% ���-���&�$!��� �� ��&$����  ����/
���$�� !� -$��� !$.. � ��� ���� � $�� ��� #6�� ��� ���$ & � � ����$�$���
����$! �-��%!�G"���������)�DRN=H���

	 ���!� #��$����-�$���$��#������� �� $��6 �� $& !���!�6� /
� �� !� ���� ���$& � ��� ��� �� ��!� ��� � �����$�� !�-$��� $��� �� � �
 #��$���� ���� ���� � �$����# !)� ! ��������� ��## ���)� $���%��)�
��� %��� ��# ��)����6���%�6��$��# ������� ����!���� �����#��$/
. ���$�� %.�$��&��$����-������!��� ��.��� #�$��! ������$& ���!���/
�� ��$& � � ��&$���� ���#���  M6 �$ �� �  $�� �� $�� �6  ��� ��� $�� ��/
�$��������� ��.��������.��#���� ���.. �!�-��!�)������%��! �����
� �$�!������������*������������!$��������% ���.����!�� ��&$��)�
����-�$% � ��%�$���# ���� !���!� ��%!������� ����#��� $����� ��
� .��$�� .��#� ���� & ���%�  M6� ��$��)� ����$��� $�-��!� ��!� �$% ��)�
�����)���!�!�������6 ����	�# ��.����������������! ������$& ���$�/
$�$�#��� �$���$����!��������$��G4�$&��%�&|)�=IIAH���

�#���� � ���$& �  #��$���� $�� $�� �� � �.� , �%����� ����� ��$� ��
-� ��6�� �������� ��� ���6� . �������# ���$%!���� ���$��%$����$���
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��� ������ ��!� �$& � �$#� �� #�! %�� ��$�� $�� � .% �� !� $�!$.. � �� )�
��$! �� #�������

�����$%!� ��$��6 �$�!��.������ �������%��� )���$%!� ���%��� M/
6� �� !���M$ ����8����� � ���$%!� ��$�� $��������� �$��$��������� ��
� �!����� �! 6 �! �������!�%��)���& � ��! !�� %.��& ���# ��.  %/
$����.�� $������ �� � !���!�!��Q�� ������ �� �-��%!������!��� #��
�� $��� ��&$���#�����& �������� ���.���#6 ����$���������#6����
�.��� $��6  ��)��� ����� ��$& �� ��&$�����!�$��66��6�$�� ���� #6��
����  ��� ����$�$�����������$���$����#�! ��������6���#��6� � ��
�.� �� �� �� %���� .����!#$���$��)� ��!����� �$��� � , ��$������ ���  M/
6� ��� !$����  # ��� -$��� ����6�  M6 ����$����� 
�$%!� �� -��� �� �
 M6 �$ ��$�����M$ ���$��.�#$%����!������%� �&$���# ���.�$%����� �
� ����$� !)� .�����$��� ����)� .%  ��������� ��� ��$�����!�� % ��$���
�%� ����$& � ���� �� �-��!��� ���� ��$& � ����� ��$%!� � � ����� � ��!�
�%�$#���� ��$���.��#��!�%��)� �6 �$�%%������ �-����� � #��$���%%��
�$��$.$����� ��� ��$%!�� ���� ��$& � � ��&$��� � �& �� ��� �������$����
! . �� � ���$���� � %./! ������)� %$� � &�%& � ����#�%�� !� � ���$& �
 #��$���%� ���� ��� ����� �� � ���� !� $�� �������$���� ���� ���� �/
�$���$��.�����$%!����%�.��� M�$�$���$�$�$��$& ��-�$���$��%�����G1��(���
 ���%�)�=IIDH���

��� ������ �����%� �� � �66 ��� ��# � � -�  #��$���)� ����� ���
.  %$����.�$�,���$� ���!�$���%���-�$�����$�$���.��#��� �����.�,��/
�$� ������� �� #��$���-$���-�$���- �#  ��-$���6�6$%��$�������%�
$������ �.�$�������$��$��� .% �� !�6���$��%��%��$��6��%$���66 �����/
 ����.���$%!�� �%$� ����# �� �6���$�$%$���.����$��6 �.��#��� )���!�
� �-���������.. ��� ���#��$. �� !����� !� ��)�.�!$��)��%�#�$� ��)�
# #����%�����6���� ���6 ����&����!��%������ �� M�� #��$������!�
��$� � -� �� ��#6 �$��� $�� ���$&$��� -� � � ��$%!� ���$ & � �� � �� ��
�����# � G! 6 �! ��H� ���-��� � �����# � G�%���H�� �� � %���� �.� � -�
 #��$���$�� #��$����.���%$!��$���#��$. �� !����! &��$���������$�%�
-��% �G4��' ��&()�=IDIH���


�$%!�#����������� ��$& %��$.���# ��$������ %����% ��� !)���!�
���Q��! �%�-$���$�����%����������� ��� �)�� �����$%!� ���
�$%!�$��$�/
� ���%%�� .������� !� ��!� ��# ��$��� $�� %������ ���� ��$��� ����%%��
���� �%����# ���.. �$����8�����$%!�$��$��!$..$��%������  6�$����! ��
���������$����#$%$��$��)����! 6� ��$�����!��������$�� !��� $����/
�� ��$& � � �! ��$ �� ��� ��� �� ��$%!� ��� 
�$%!� ���& �� %�� �  !��
�6�� � .��� $�� ��� � � ��% � ��� ��%�� ������-���� � �#$�� �� ������ �$��
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. ��)���� �)���!� ��)���!� & ��.  %$����.���$%���2 ��  !������ ���$!�
�.� �� $�� ! �6 ���$��� $�� ��#�� �.� �� %�& !� �� � ����� ���� 6��� !�
#����$���� 2�- & �)� -� �� ���� ��$��� �66 ���� ��,���$.$ !� ��!�
! &�$!��.�6��6�� )����� �- ���& ����%����%$��% �!  6 ����

������.��������-$��$�� $�� %.� $����-�����, ��$& � ���%��$����.�
���� ��$& �� ��&$����8$�������, ��$& � M6� ��$���$���.� ���.�.��$�%�
 M6� ��$��)�� ���� ���!� �� �� .�%%�- !���� ��� ��.� & ���%� M6� �/
�$���������% ��%��$�!$��� �� ���%��$������� ��$�����
�� � .�� )��������������������� ���.����� ��$& �� ��&$���$��6���$/
�% ���!����� ��$%$����.����$� �����$����#�# �����.���$����� ��6%�� )�
$��$�� M6 �� !����� ��$& �� �6��� ��"�% ��.� !����$���$��Q����� �/
��� ��%%�#��$. ����$�����.���$%!����� ��$��)��������� ��$ ���$��.��#�
���$���$�%�!$� ��$������6��/���$�%�!$� ��$�����!�$��� �!��.������%��
.��#�#�� �.��#�-�$����� ���� 6���% �������$ �����


� & ��$��� $�� #���� � � ��%� ��!� �$#6%$.$ !� � �#�)� $�� # ����
�&�$!$��� ��! �$���% � 6����$� �� &��$���� .��#�� �.� �$��� � ��&$���
��!�6���% #��G2�����&(�p�4����� ���%�)�=IIBH�����$��� � ���������
 #6���$� � �� ��  !���� $#6% # ���6� & ��$��� $�������%� �&$���/
# ����
� & ��$����.����� ��$& �� ��&$�������� �!$&$! !�$����6�$/
#���)� � ���!���� ��!� � ��$���� G4�#��(9�&(� =ID=H�� ������� ���/
���� �$� ��6� ����$�������� 6�����.�%%�-�C��

D� 6�$#����6� & ��$���p����� ��$���6�$#$� ����!$�$����$�� !�/
���$��� ��!� ���$�$��)� ��� - %%� ��� 6 ����� %)� � ���$��%� ��!�
�6�� )�����$�$�$����.�#�� �$�%�$�������%����$��$��%�! ��� /
% ��$��� �.� � ��� ��)� � -� �66����� �� � ��� ��� ��� 6�6$%��
-�$��� �� � �6 �� ��!� 6���� ���$6� � ���$��$���)� � -� �6/
6����� �� $��  !����$��)� � !���$��� $�� � ���$��� ������ ��!�
��#� ���.�6�6$%�� $�� �%��� ����$#� $�� ��� � ���$��!$� ��%�����
�����%� � ��� �� ���$������)� �����%� 6�����%��$��)� �6 �$�%�
6 !����� � ��!� ���$�%�  !��������� ����� .�#$%$ �� $�� �  !� ���
$����!�� �  .. ��$& � .��#�� �.� ���6 ���$��� -$��� 6�� ���� $��
��%%������$���-$���  M6 ����� ��,!�9�&(� G=II?H� ���$�� !� ���
6�$#���� 6� & ��$��� �%��� 6� & ��$��� 6�����#�� ����� .�����
��� ���������$& � ���.%$��� � ��%��$��)� ��6$��� -$��� ��� ��.�%�
�$����$���)� ! & %�6# ��� �.� ���$�%� ��$%%��� 	���� 6�����#��
$��%�! C� O2 ���� ��� 6�%#P)� O��% ���� � ���$���� &$�% �� P)�
O� ��& ����#�%%�P��
� & ��$����.����� ��$& �� ��&$�������
� � $#6% # �� !� �������� 6� & ��$& � 6��, ��� O5 � ���-�
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����P�� ��� $��6�����#� .��� .$�������$���� &$%)� &$�% �� )��!!$�/
�$��)�6� ,�!$� )����$�#���!���6��!���$& �-����.�%$. )��

=� � ���!���� 6� & ��$��� p� �� � � $��  #6���$�� ��� &�%� ���% �
����6�� �.� 6�6$%�� ��!� �$#�� ��� ��6��� �  M6� ��$���� �.� ��/
�� ��$��������� ��%������ �����.���� �����6�6$%��-����� ����
�$����.�!��.����$���%�! & %�6$������������%)�$��$��$#6�������
����� �� �6��$�$& ��%$#�� �-� � �� $���� ������������%��� /
�-  ��� ��� �����!�6$6$%�)������%���6�6$%���� #� %& �)���!�
�����6��&$! �������.��$!������%��������6���$�% ������� �� �
�.����� ��$��)��

>� � ��$����6� & ��$���p�$����$#�$�����6� & ���� / �� ��! � �$�/
���$���$������ ��$& �� ��&$������,!�9�&(�G=II?H���� �������
$��� ��$����6� & ��$���$��%�! � # �� �������$����� )��� �/
�6 ��$�� ��!� ����6� 6�����#�)� � %6%$� �)� �����$��� 6��/
���#�)�-  � �!��!$� �� !�$������� )�$��� �� !�6�%$� �6��/
� ��$�����

�M�%�!$������$�%� !�������$��6� & ��$����.����� ��$& �� ��&/
$��� �����$��� � ����!$������ �.� 6� & ��$��)� -�$��� �����%�� ���� � �
� % �� !�� ��� ��-���$��$������� )�����!$��� ����!�!$� �������$&$/
�$ ���.�6� & ��$���� ����#$��$��� $�� ���! & %�6���!� $#6% # ���6� /
& ��$& � 6�����#�� ��� �����%�� ��� ���� �%��� ������ ����  !����$���%�
�����%�����-���$���%��� #6%��  ��.������%���!�$���� ���.�6� & �/
�$���$��! !$��� !������%&$���6���% #���!�! %$��� ���! & %�6# ���
�.� ��$%!� ���8$��%%�)� $�� $���%��������%�6�����%��$��)��� ��.�-��� �
������ $�� �� ��$��� ��!� $#6% # ����$����.� �� &��$ ��� �.� 6� & ��$���
��!� $�� �& ��$���6�����#�����#�!$.����-��� !�� ��&$��)�! & %/
�6# ���6�����#�)����$�%���##��$���$��)���$%%����!����$�%���#/
6 � �� )� ���$�$��� ! & %�6# ��� �.� 6��/���$�%� � ��&$��)� ��% ���� �
��!����.%$���� ��%��$��)���� ��$& � ��)� #6�������!�! & %�6# ���
�.�  #��$���%� $�� %%$� �� � G~�%$����&()� =IIBH�� �� � � ���� �%��� $�/
�%�! ������%��6 �$�%� !������)�� # !$�%�� ��� ����!�$�� 6%�� ��% �
��% �$��6� & ��$���6��� ������%����� ��� ������$#6% # ����$����.�
�����%/��� !� 6� & ��$��� �6 �$�%$���� ��!� � ��� ��� �� � &��$ ��� �.�
.��#���������C�!$�����$��)� M ��$� ����!���# �)�% ���� �)����$�/
$��� 6�����#�)� $�� ����$& � -������6�)� 6� & ��$��� % �.% ��� ��!�
6��� ��)���!�.$��%%���6��������$&$�$ ���� M��.��#�C�6� & ��$���!��/
$���$�!$&$!��%�% �����)�% $��� ��$# ����$&$�$ �)���#6 �$�$���)� M�$/
�$�$�����.�-����)�! ��� �)�$�� �&$ -�)�# ���� �����!�)��~����-�)�
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�����%���!$�)��� �� ����!���� ������Q��,����6�����.�6� � �� !�.��#��
������ ��� �����& ��&�$%��% )���������,����$#6% # ����
� & ��$���
$�� �� ��$�%���!�� ��$� ��6���$��%��%�� �����$���$�� � ��� ���-���
��& �Q��$�� �& � !���%��-� ��6���% #�-$�����$%!�$�����$� ��
���/
% #� �  !�� ��� � � �&�$! !�#�$�%�� � ��$��� ��� ���-� ��$%!� ��!� �$��
6 �� 6�$����.�!�$%��� ��&$��)�-�$���- ��������������# ��$�����
�
�

���.�1�����
�

����� �� �����%� �� � $�� 6 �$�!� -� ��  & �� - � ���� $�.%� �� �
��!���$! �6�6$%�� $���$����!$� ��$���� ��������  �����-�������6�/
6$%���%� �!��$��.$����$������ �� �!�������� ��$& �� ��&$�����!�$��$��
� ������% � ����!!� ��� ��$�� $��� ��
�6$%��  M6� ��� �� $��  #��$����
$��66��6�$�� %�)� �� ���� � ���� ���.$! ��)� $�� ��$�$& )� ���.%$��)�  M/
6%��$& ���!�!��Q��� �%$� ���������� ������������%����� ��������%���
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